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ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2015 C L«X, 2016 
%UÔX›◊Tˆ ( Economics ) 

B◊¨K˜Eı YÁPˆy‘] ( Elective ) 
ªJÙT«ˆUÔ Yy ( 4th Paper : Indian Economy ) 

a]Ã^  f ªJÙÁÃ[˝ H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 4 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

 

1* Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 

 (Eı) 1991 aÁ„_Ã[˝ YÃ[˝ \ˆÁÃ[˝„TˆÃ[˝ ◊`„îÁ~Ã^„XÃ[˝ G◊Tˆ-Y“E ı◊Tˆ 

◊[˝‰`¿bS EıÃ[˝”X* 

 (F) "a[˝«L ◊[˝Y¿[˝' [˝_„Tˆ Eı› Â[˝ÁMıÁÃ^ ? \ˆÁÃ[˝Tˆ›Ã^ E ı◊b„Eı 

a[˝«L ◊[˝Y¿[˝ Eı›\ˆÁ„[˝ Y“\ˆÁ◊[˝Tˆ Eı„Ã[˝‰ªK˜ ?  5 + 15 

 (G) \ˆÁÃ[˝„Tˆ È[˝„V◊`Eı ◊[˝◊X„Ã^Á„GÃ[˝ Y„l˘ C ◊[˝Y„l˘Ã[˝ 

^«◊N˛m◊_ [˝ÓÁFÓÁ EıÃ[˝”X* 10 + 10 

 (H) \ˆÁÃ[˝„TˆÃ[˝ EıÃ[˝-EıÁPˆÁ„]Á aeïıÁ„Ã[˝Ã[˝ ◊[˝◊\ˆ~ ◊VEım◊_ 

%Á„_ÁªJÙXÁ EıÃ[˝”X* 

2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 

(Eı) \ˆÁÃ[˝„Tˆ Â[˝EıÁÃ[˝±ºˆ V…Ã[˝›EıÃ[˝S Eı]Ôa…◊ªJÙm◊_Ã[˝ ]…_ÓÁÃ^X 

EıÃ[˝”X* 

(F) \ˆÁÃ[˝„Tˆ G–Á]›S @„SÃ[˝ Âl˘‰y ◊[˝◊\ˆ~ a]aÓÁm◊_      

Eı› Eı› ? Ac˜O a]aÓÁm◊_Ã[˝ a]ÁW˝ÁXEı„î Eı› Eı› [˝Ó[˝ÿöˆÁ 

G–c˜S EıÃ[˝Á c˜„Ã^‰ªK˜ ? 6 + 6 

(G) HÁªRÙO◊Tˆ %UÔaeÿöˆÁX [˝_„Tˆ Eı› Â[˝ÁMıÁÃ^ ? AÃ[˝ Y„l˘ C 

◊[˝Y„l˘Ã[˝ ^«◊N˛m◊_ Eı› Eı› ? 4 + 4 + 4  

(H) \ˆÁÃ[˝„Tˆ [˝ÓÁ·¯ LÁTˆ›Ã^EıÃ[˝„SÃ[˝ =„ï`Óm◊_ EıTˆV…Ã[˝ aZı_ 

c˜„Ã^‰ªK˜ ?  
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(I¯) 1991 aÁ„_Ã[˝ YÃ[˝ Y“[˝◊Tˆ¤Tˆ aÃ[˝EıÁ◊Ã[˝ aeÿöˆÁÃ[˝ 

Â[˝aÃ[˝EıÁ◊Ã[˝EıÃ[˝„SÃ[˝ =„ï`Óm◊_Ã[˝ =‰{F EıÃ[˝”X* Ac˜O 

=„ï„`Ó aÃ[˝EıÁÃ[˝ EıT ˆ¤Eı G c˜›Tˆ [˝Ó[˝ÿöˆÁm◊_ %Á„_ÁªJÙXÁ 

EıÃ[˝”X* 4 + 8 

(ªªJÙ˜) =~Ã^X]…_Eı %Á◊UÔEı Y“◊TˆúˆÁ„XÃ[˝ Âl˘‰y A Y^Ô‹ôˆ G c˜›Tˆ 

aeïıÁÃ[˝ Eı]Ôa…ª◊ªJÙm◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

3* Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 

(Eı) Y◊Ã[˝EıîXÁEıÁ„_ \ˆÁÃ[˝„TˆÃ[˝ %G–G◊TˆÃ[˝ AEı◊ªRÙO ae◊l˘ä 

Ã[˝÷Y„Ã[˝FÁ ◊VX* 

(F) 1960-AÃ[˝ V`„EıÃ[˝ ]ÁMıÁ]Á◊Mı a]„Ã^ ◊`„îÁ~Ã^„X Â^ 

]≥VÁ ÂVFÁ ◊V„Ã^◊ªK˜_ TˆÁÃ[˝ EıÁÃ[˝Sm◊_ =‰{F EıÃ[˝”X* 

(G) \ˆÁÃ[˝„TˆÃ[˝ %Á]VÁ◊X EıÁPˆÁ„]ÁÃ[˝ CYÃ[˝ ]‹ôˆ[˝Ó EıÃ[˝”X* 

(H) ◊[˝„Eı≥V–›Tˆ Y◊Ã[˝EıîXÁÃ[˝ CYÃ[˝ AEı◊ªRÙO ªRÙO›EıÁ Ã[˝ªJÙXÁ 

EıÃ[˝”X* 

(I¯) ]c˜Á±¡Á GÁ◊μ˘ LÁTˆ›Ã^ G–Á]›S Eı]ÔaeÿöˆÁX a«◊X◊∏JÙTˆ 

Eı]Ôa…◊ªJÙ◊ªRÙOÃ[˝ a∂ëˆ„μ˘ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

(ªJÙ) \ˆÁÃ[˝„TˆÃ[˝ ◊Ã[˝LÁ\ˆ¤ [˝ÓÁ„·¯Ã[˝ aÁ+“◊TˆEı %Á◊UÔEı X›◊Tˆ◊ªRÙO 

%Á„_ÁªJÙXÁ EıÃ[˝”X* 

(ªK˜) \ˆÁÃ[˝„Tˆ \…ˆ◊]aeïıÁ„Ã[˝Ã[˝ mÃ[˝”±ºˆ C =„ï`Óm◊_ [˝SÔXÁ 

EıÃ[˝”X* 3 + 3 

(L) ◊ZıXÓÁ≥a Eı◊]`X [˝Á %UÔ Eı◊]`X Eı› ? AÃ[˝ EıÁL   

Eı› Eı› ? 2 + 4 
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English Version 

 
1. Answer any two questions : 20 × 2 = 40 

(a) Analyse the trends of India's industrial 

development after 1991. 

(b) What is meant by 'green revolution' ? How 

has Indian agriculture been affected by 

green revolution ? 5 + 15 

(c) Explain the arguments for and against 

foreign investment in India. 10 + 10 

(d) Comment on the different aspects of India's 

tax-structure reforms. 

2. Answer any three questions  : 12 × 3 = 36 

(a) Evaluate India's programmes of eradication 

of unemployment. 

(b) What are the different problems of rural 

credit in India ? What measures have been 

taken to overcome these problems ? 6 + 6  

(c) What is meant by deficit financing ? Argue 

for and against it. 4 + 4 + 4 

(d) How far have the objectives of bank 

nationalisation in India been successful ?   

(e) Mention the objectives of privatisation of 

public sector enterprises after 1991. 

Discuss the measures adopted by the 

government to this end. 4 + 8 

(f) Discuss the reform measures adopted so 

far in favour of development finance 

institutions. 

3. Answer any four questions  : 6 × 4 = 24 

(a) Give a brief outline of India's economic 

advancement during the Plan period. 
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(b) Mention the causes of industrial recession 

that occurred in the mid-1960s. 

(c) Comment on India's import structure.  

(d) Write a note on decentralised planning. 

(e) Discuss the Mahatma Gandhi National 

Rural Employment Guarantee Programme. 

(f) Discuss monetary policy of the Reserve 

Bank of India that took place in recent 

times. 

(g) Discuss the importance and objectives of 

land reforms in India that took place in 

recent times. 3 + 3  

(h) What is Finance Commission ? What are its 

functions ? 2 + 4 

    


